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Kirsty draws this shape on a grid. She turns her grid one quarter turn clockwise.
Draw the shape in its new position after the turn.

Use a ruler.
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Here is a tile.
The tile is turned.
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One of the diagrams below F
) shows the tile after it has been turned. ® J

Tick (v') the correct diagram.
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on this diagram.
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The diagram is turned to the new position below.

Draw the three missing shapes.
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2019 Organiser Out Now... All-New Arithmetic Ninjas, Paired Domino = Q \ |—|:|

Activities, Self-Marking Papers, One Page Wonders and new Tutorial —
videos for last Summer’s SATs. Try it free press here! 3



https://www.youtube.com/watch?v=jpfZHRbw1L4&index=23&list=PLS3PH82bo0VBJMWhA_KgnmlCz7eYt4Ic0
https://www.youtube.com/watch?v=HSmpNVUPyFc&list=PLS3PH82bo0VAUYt9DB2Fmlhd1JQWarrbi&index=15
https://www.youtube.com/watch?v=SRdDFSuIPQY&index=8&list=PLS3PH82bo0VDFLB1GO9MFyP7qMuzBVyJt
https://www.tes.com/teaching-resource/2019-ks2-sats-revision-ultimate-15-in-1-maths-organiser-11989842
https://drive.google.com/open?id=1DQSgTL_ByD_-Lo1AR-d41QPzAGHkzbAZ

Stefan makes this design on a square tile.

Put a tick (v') on the tile below that has the same design as

Stefan’s tile.
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He turns the tile.
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Here is a jigsaw with one piece missing.

Which one of the pieces below fits the hole in the middle?
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https://www.youtube.com/watch?v=wjYYo-NwcMs&index=22&list=PLS3PH82bo0VBgaF4RCu1nFganpFTSFBqV
https://www.youtube.com/watch?v=vKxVKqfHyDE&list=PLS3PH82bo0VD4taaQGkL0Gl-3N2AnmO2r&index=21

